
TS – Solution – Fonctions Numériques – Exponentielles – Limites aux Bornes – s5450

1/  Calculer, en justifiant :    a)  lim
x  +

ex

1 + ex b)  lim
x  -

ex

1 + ex .

a) Si  x  + ,  ex + et  1ex  0  :   ex

1 + ex = ex

ex( 1
ex + 1)

= 1
1
ex + 1

, d’où lim
x  +

ex

1 + ex .

b) Si x  - ,  ex  0 :     lim
x  -

ex

1 + ex = 0
1 + 0 = 0 .

2/  Calculer, en justifiant :    a)  lim
x  +

1
xex + 1 b)  lim

x  -

1
xex + 1 .

a) Si  x  + ,  ex + et  xex  + , donc  xex + 1 + :  lim
x  +

1
xex + 1 = 1


= 0 .

b) Si  x  - ,  ex  0  et  xex  0 , donc  xex + 1 1 :  lim
x  -

1
xex + 1 = 1

0 + 1 = 1 .


